[image: plot | y = sqrt(1\/15 (90-6 x^2))\ny = -sqrt(1\/15 (90-6 x^2))\nx^2\/9-y^2\/6 = 1]


[image: http://www4b.wolframalpha.com/Calculate/MSP/MSP5711c7fi05c81cih63a000032g8fdii991dfhf9?MSPStoreType=image/gif&s=25&w=420.&h=171.&cdf=RangeControl]
















































[image:  integral_2^3 (3 x^4+2 x^3)\/x^2 dx = 24]

[image: http://www3.wolframalpha.com/Calculate/MSP/MSP8892197323f5536b10100000d14337cda7g4h8c?MSPStoreType=image/gif&s=40&w=200.&h=137.&cdf=Coordinates&cdf=Tooltips]


[image:  integral (3 x^4+2 x^3)\/x^2 dx = x^3+x^2+constant]
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